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A 0.18 kg stone is attached to a cord and whirled s e 2 0,18 kg i€ jaa
in a horizontal circle of radius 0.5 m such that e w e
it completes 32 revolutions per minute. The 0.5 m s lf aat fosl) 3 5l

magnitude of tension force in the cord is: LAl e
3 S Aadal) 83,5032 Jomar jaall ol
(b Jeall B 3

-
1 [ D6 N
[ 12N

Consider the following figure: If the applied force Y IS EPUUT R U CHPOL I | U
is 60 N and the lower mass is 1.0 kg, what is the & s Gl Al A 4 cF=BON
tension in the string? (frictionless surface)

Jall b oaall sE s Lé M= 1.0kg

=hdl b lde 2M 5 M cpemall G Jeal
fallSing an o Y g Lo
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The figure represents temperature versus heat Sile e Adia A 1A ) ) A bl

that was added to a 1.0 kg solid sample. Data e 35l dap ue ] Qkg ek
collection started at —200 °C.

Choose the correct statement about the sample, saall 8 )l a el AW e i -200°C
from the following: Adladl 4 ) all didall Lo ades AlaS
o3 oo Aasmia s A o lall e

=530l

T T
200 300
Heat Added (keal)

It boils at 300 °C. 300°C 5 a4 0 vie tas gl

It melts at —200 °C. —200°C 3, m s 0 dis ppeaw gl

5 a da 0 die ALL Allall b Ll

Itis a liquid at 200 °C. 200 °C
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The two blocks shown in the figure (B is at rest) EB) el B i gall Slevall anbia,
stick together after the collision. Their final speed Alal g lowa lasas 5 gl g (oSl auag
s (o Ot el 4ledll el 5K
0.2 kg 0.4 kg
3ml/s
—

A
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The Emirates Standardized Test

A solenoid carries a current in a direction shown b e S e e e g8 ol ale
in the top figure. For an observer looking at the Sl e Gl Jal 8 e s L [ e
solencid from it is right at the point indicated as i dgay bkl Jiadl ciuny oSa
a};:; the magnetic field lines appear (theoretically) ¢ X Akiil| 2o ) 4
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The figure shows a negative charge entering a slas¥l & Auls dia ity s ol o (Lo ddaal 8

region with a magnetic field (out of the page). Jae _,55_15 dalai, & Sl jemall Cea gl

When viewed from a point on the positive z-axis, Lall U, | aladyl ala Ll
the subsequent motion of the charge is: v - =l L o T

sl sl gl olas¥l el il e

DG4S g e

straight ahead. Al b 4 j

b ™,
clockwise around a circle in the XY & doldl o e sl Ak S
plane. XY 5glule

clockwise around a circle in the XZ # Aol ‘-—'-Jﬁ"’ sladls 5yl Je
plane. XZ | Sglule
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Two polarizing filters are held together. The
maximum intensity of light passing through the
two filters will occur when the transmission axes
are aligned?

eSwlbiall il jLisl
E m SATfI:ne Emi’?ates%t‘a!\dagdiz]e& Test

poshsal () el e ol
338 Aol Jeman (fpeSiie) Jmedl Legenn
ey f e gl el e L) g gl

Top Al sl 5 ) s

[ at 45° to each other

Logaiamy e 745 4a 0 j

[ perpendicular to each other

A= [ at 30° and 60° to each other

Legnns 2 °60 i °30 S ]

A radio wave signal of frequency 5.0 GHz is
emitted into space and reaches a spaceship
moving away from Earth at a speed of 0.40c.
The frequency of the wave as cbserved by the
spaceship is:

selmill W50 GHZ 2o sl dase S0 0
Ao e g ¥l e luer St oliad duie (Joad
0.40c

A il Al 2 s pladid e ol gall 20 8 050
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A spaceship fraveling with constant velocity CEI éhh Bl Ao puns e Ailiiad S 4e
covers a distance of 1.2 x 101° m in 1 minute. gl e saal g di8a NA 12 % 1010 m

The proper time for the ship to cover this - o 43l akdl (proper time) sl
distance is: # &= (prop )

[ 0.67 minutes

[ 1.0 minute

o [ 0.55 minutes j

A force of 3.2 N is applied to an object that has a 4l aa Ao 32 N ool 5 gubi %
mass of 0.024 kg. According to the rule of
significant figures, what is the acceleration of the 0.024 kg

object? laa dlse Eﬂ.ﬁ ia;l:}.'ll.nh Pﬁjiﬂ o) g

ot pall

1.33 x 102 m/s®

1.333 % 10° m/s5?

hS

[ 1.3333 x 102 m/s°
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